GRE UPPER PRIMARY SCHOLARSHIP EXAMINATION (Std. 5'"), FEBRUARY 2018 \

Seat No.
0401 ™
Paper No. I Medium : Gujrati Time: 11:00 to 12:30
Qages - 32 First Language and Mathematics Total Marks :1 y
Read the following instructions carvefully before you answer the questions.
(1) This question paper contains two sections. In Section I there are 1 to 25 questions of First Language
and in Section II there are 26 to 75 questions of Mathematics. All 75 questions are compulsory.
(2) All questions carry 2 marks each.
(3) Time limit to solve the question paper is 90 minutes.
(4) Separate answer sheet is given to record the answers. Each question has been given four alternatives.
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(6)
(7
(8)
)

(10)

(11)
(12)

(13)
(14)
(15)

Read them carefully. Select the correct answer and shade the correct answer in the answer sheet.
Example :— If the correct alternative for Q. No. 6 is 2, then record your answer as follows:

Question No. 6 Q@ ® @

Answer recorded in any other form will not be considered. Such answer will be credited with 'Zero' mark.

Example: @ @ ® ®

Use blue or black ball pen to darken the circle. Pencil is not allowed. Circles darkened by pencil will
not be credited.

Once you have darkened the circle as correct alternative you cannot change it.

If more than one circles are darkened or overwriting is done, the answer will not be accepted.

The rough work is to be done in the space given under each page or on the last page of the question
paper.

If you do not know the answer to any question, do not spend much time on it and pass on to the next

one. If the time permits you can come back to the question which you have left in the first instance
and try them again.

If you find any question incomplete or with error, then do not ask anything to the Supervisor or Centre
Incharge.

For any error/mistake/objection issues, school or parents should not send written application to Block
Education Officer or Education Officer. These error/ mistake/objection issues should be register
online through respective school login only.

The error/ mistake/ objection issues should be register online within 10-days from the publication of
Interim answer key on MSCE website.

Questions can be cancelled due to printing mistake or any other reason, on the basis of the suggestions
given by the Committee of Experts.

Along with the question paper of the respective medium, the English version of question paper is also
provided. In case of doubt please refer to the English version of the same question.
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Taar 1
qqH 91T

AAall : Ust 5.1l 3 HER HUA ste cifld doll dlAel wsllal velol
puAl wAlA0HEl uRie 53

5& oM Ha Slovmi olg Al ® $3],
gellmiedl, g dlRll ove udtal oidl.
el Scll &cll SLL UR HAL 4S8l €58\,
Hlsl Hlsl Hal v claldl A AclRell dssl.
U oL Al ® §SL 3| el GlRSell dUH,
Sl (oY olellcd] ? VAL o2l $8ef ollM.
Rl W vl Bval Aal Hie didl,
HOUGLTA eHela euls eudl HI3L.
565 5 Y N As Bvell ololr,
ot3lHiell AR MR, otell viellell .
R ollell oL (BRe0 AlcAl UR 53l ASS|,

5&, enelRev ud, Hlsl Hle dssl.

1. syl 63l sl Al 2
(1) gtla (2) HouA
(3) Hilla (4) enela
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2. 2R ofdl ugAdal sla 56 © ?

(1) gdlHRlla (2) Houeusa

(3) eNel Ava (4) 3 Actel

3. oN¢ viel $M o ?
(1) HoueusA eudl 13l dell
2) gdlHll olsl ugaudl e

(3) ARVl (Brelell dssl Haalel

(4) SLOL UR LSSl £S5 Ml HAL HI2

U-4 2l 6 HE AAell- llAell WA ciellal dell ol Al Usllall vellol

VAL UALRANHLEL ude S,

WLRLWLGIR... b oW O1R... {2l bLOR
gHld HaALl od g [QAMHL 6d e ©
“ Ul ASA
UL ASML ...
lollddg Atlall olella 20 A

AHIRL HIE dlel ®,
U s Ral 3 vid

1,4 3 7 dld
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4. AU mEAA 2l © 2
(1) 2124l (2) A5l

(3) &l (4) Rituesddl

5. £ Secll W 29l ?
(1) s (2) Al

(3) AR (4) =el

6. “ollnsel d8a Bsl Al VAL 2ogAHE HIE MEAHT sl 2106 UL

7
(1) URAS (2) OLLALS
(3) dlollddé (4) 4&

7. QlRRR Qenelld Said Ho® Al dlsHl duRAdl QaANEl UsR
VLl

(1) AvAlAs @alwsl (2) dLlAlAS QML

(3) uRHElAAS [@QaNel (4) e9ls alAs @Qalyel

8. (oL 2R uAl2A0Hell 220N 2Alavdl.
(1) He-3d (2) $1LSL—5L2LSL

(3) SIER—ASL (4) aldl-aldl

9. UL 2A06e] dsclAatef 3U AL

“ yle s’
(1) Ul (2) UleS
(3) Ulalsl (4) Uie Sl
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10. wf20Hi AL disel UL ‘eL@vausior gallad disel 2Lavil,
(1) 2HEL 2uouHiel UaRt v ©.

(2) -3 owouHel vl 2R edl.
(3) BAHEL ouourHell valed oval.

(4) 3 snouHel wat e 6l ©.

11. 20l dsaHERl ‘G2’ 2N
Al 2ol el 52 ©

(1) 5% ® (2) 28l (3) eelall (4) A8

U-12. el 14, HE Aell- 2UUAL AsAlell HRA{Ad URWDE olal & A LALAHE
Av{l Ugllell veotal 20122 vl 2.

12. 0 AW saell ola =48 o5 .
(1) HWS 2ol Hadl (2) *5e o AcHA
(3) 5101 2a clcdlodl$ (4) AW 2a €5
13. 2l (@Qeauell A, 2 ol U srRel ok Wl Sld____ _ sAA a8l
(1) Sl (2) HAY
(3) H8d (4) edle
T | dl HHA llAcll o U Sel sl

dlesLCls Hee HOll 2% ©.

(1) WdlA- 100 (2) se1sél

(3) Holl? Vel (4) MAH
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15. 20l dlsAstl eiol yRell ielyel disel dAR sl sell ellal AHdldeus
© A uAal0HERl UM,

fleevuds / Gdiad / st sralell/ 2uugla
(1) Gdiaa (2) flRevuds
(3) 2AUBLA ASAAL HA . (4) st scuell

16. AL wAl0He]l AAlBegre uAl2 uie 53 asel usl s

‘aevial el sl el HIZl gl e
sAA A1,

(1) selse (2) Ueue

(3) "olluol (4) guleu

17. o0l HIRAP AL VLl 2ot i WREURS 2ot flAal UL sell ?
(1) ¢ecle (2) ARV
(3) Ao (4) e

18. 2UNA 2lotall HHLl 2106 ol oA dal 2loe uaAluHiell 204l
‘e DA

(1) AR (2) M4
(3) vdl@& (4) AR

19. 20 20eql QAU oot Al ual20Hiel 20l
‘el

(1) A (2) goHal
(3) Avull (4) 1euLsl
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20. ol aidl eyl sloe AR art ddl asld 26 eoldd uala sl ?

R |R|R([R
(1) &, €, S, ol (2) ¢, €, S, 8l
(3) &, ¢, S, 0 (4) €. S, N,

21. AHUA 210¢ A ALY NS20e olalladdl of ol dcl uAla 2Nl
(1) usl (2) vl (3) Had 4) R

22, Wl Ao Al ot2Alell 58 NSl 2022 ® 2 A 2l
(1) etell-Helay (2) o153 —015
(3) duA-uLsl (4) Gle—AalY

23. Aol WS Wl el doll S610L6Al 240220 w2l 2Nl
(1) WAl el (2) ugllell =L
(3) Rledl a8l (4) celell otvlld

24, ‘ddclRl £%Alel gcllell Clcd atl B,

| cAlgUHL KB 2loe ol A2 3 $ell?
(1) catell (2) BBrd (3) &d (4) &d

25. el dllell BHY eliRdRcele] Ble AR covvvvrneeenens
(1) S cllolRAUS oL AIASS (2) ddl Ha\2Us?
(3) Al d5As? (4) ARER dedls ued
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Section 11

Mathematics

26. HLSL AAUSARM MR + Al >U$l€-n. + Tﬂ@ﬂ%l = ?

(1) 38,900 (2) 39,600 (3) 38,625 (4) 38,800

27. vyl HUCLSHL A v=ulell sH 2Ll Ul Rledtdl ol aAladl vl
ol B A AvAll aluel golladl oA uAle Bl

417805 417797 417793
(1) AR AV AdR 6MR VLol
(2) Asdlell dlvt AL &R L suell
(3) AR AL L5 eVR S A

(4) AR ALL AR SlVR s A S.

28. ¥ls {vAlall AN ol 33 Sl dl A vl 5872

(1) 99 ) 11 (3) 36 (4) 30

29. 0L HHIAR VUL URRUR v,

(1) O O, (2) dolledl Ul O O,
(3) sURA Dedl el (4) dol QA ©.
Space for Rough Work
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Section 11

Mathematics

26. Thirty eight and half thousand + Three and a Quarter hundred + Three

27.

quarter hundred=?

(1) 38,900 (2) 39,600 (3) 38,625 (4) 38,800

Observe the number series and select the appropriate number, which is
written in words, from the alternatives given below.

417805 417797 417793
(1) Four lakh seventeen thousand and eight hundred.
(2) Forty-one lakh seven thousand and eighty-one
(3) Four lakh one thousand eight hundred and one.

(4) Four lakh seventeen thousand eight hundred and one.

28. One-third part of a number is 33, find the number.
(1) 99 (2) 11 (3) 36 (4) 30
29. Two parallel lines each other.
(1) intersect (2) after extending, intersect
(3) never intersect (4) are perpendicular to
Space for Rough Work
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30. 2Re—UaH Gvaell He Uoo Addlel As Al R slawoll g4 dleat dl
sd sedl dleR gt dicl ?

(1) 6000 (2) 60 (3) 6 ) 10
31. 3500 Heel 6.6 8 ol 63 3 dArle RAlg cAlY e ?

(1) 2240 (2) 2120 (3) T500 (4) 400

32, ol Aell WA 202 Quel 524 ?

(1) QelBHd, HIeBHL sl 2l ol dl olgl AL
(2) WAleBHd, Al sdl 2l a2 dl wle 2L
(3) AARBHA, HIleBHd Scl At ol dl olgl AL

(4) Al BHd, Mdle BHA ddl atl ol dl o8l ARl

33. XVII+IX-IV+C="2?
(1) 72 (2) 122 (3) 522 (4) 1022

34, 24— alSa0 UHEL BB3eall Ha o ddl o gda WU al Y3l uf.
Al A Y3l 2gAlell AHA 12-scls alSAOH] dAell UL sell 2

(1) 4:45 (2) 3:45 (3) 2:45 (4) 15:45

Space for Rough Work
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30.

31.

32.

33.

34.

12 packets of milk of 500 ml each were brought on occasion of Kojagiri
Pournima. Find out how many litres of milk were brought.

(1) 6000 (2) 60 3) 6 4) 10

At a rate of 8 P.C.P.A, what will be the interest for 3 years on the principal I 500?
(1) T 240 (2) X 120 (3) ¥ 500 (4) X 400

Which of the following statements is true?

(1) If cost price is greater than selling price, then there is a profit.
(2) If selling price 1s greater than cost price, then there is a loss.
(3) If selling price is less than cost price, then there is a profit.

(4) If cost price is less than selling price then there is a profit.

According to Roman numerals.

XVII+IX-IV+C=?

(1) 72 (2) 122 (3) 522 (4) 1022

According to the 24-hour clock, a cricket match started at 10 o'clock. What
will be the time according to 12-hour clock, if the match is ended at 15:45?

(1) 4:45 (2) 3:45 (3) 2:45 (4) 15:45

Space for Rough Work
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35. Vs VILUHL ollcdUlell TU%, ALl FU%, UALRlell 0% Ao ollSlell VoLl
LS . N A VIAUHL §A Uooo LS &l dl viogell LSl Qv Sedl?

(1) 2750 (2) 1500
(3) 1000 (4) 750
36. 6 5AS 52 Melle = wovvvvvveennn Mddle
(1) 412 (2) 360
(3) 512 (4) 422

37. oAl U A @Qtlal DAL

(1) 100 ol A53520 =20 (2) 200 ol A'S3 10 =20

(3) 400 oll A3 5 =20 (4) 300 6ll ASS 10 =20

38. 4,5,6,0,8 VU 25| §5d A5 ¥ aAvid dAulal QAR dd Hewl HE 2

AlellHl ollell A v2Alell RO st vl 5852

(1) 1,27,108 (2) 45,554
(3) 63,554 (4) 91,108
Space for Rough Work
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35. In aforest, there are 15% Babul trees, 45% teakwood trees, 20% Jackfruit

trees and remaining are Jamun trees. If there are 5000 trees in all, then tell

the number of Jamun trees.

(1) 2750

(3) 1000

36. 6 hours 52 minutes =
(1) 412

3) 512

(2) 1500

(4) 750

minutes.

(2) 360

(4) 422

37. Which of the following statement is false?

(1) 20 percent of 100 =20 (2) 10 percent of 200 = 20

(3) 5 percent of 400 =20

(4) 10 percent of 300 =20

38. What will be the half of the number obtained on adding the biggest number
and smallest number formed by using the digits 4, 5, 6, 0, 8 only once?

(1) 1,27, 108 (2) 45,554
(3) 63,554 (4) 91,108
Space for Rough Work
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39. YV p=3Ad t=2 &l ol

pxXpt2xpxt+txt=?
(1) 21 (2) 25

(3) 24 4) 17

40. N ARdA £.cLe.RA 7 oll £3 A5 5He] 3 o] Alg ALY . 2520 HUY
dl A M (Hed) Seddl g2l ?

(1) 15,000 (2) 21,600
(3) 1,500 (4) 12,000

41. 0,5,6,7 21l 215l §5d s dvld AUl dyHi ay Seddl A8l sl An

LvARA QAR 29 ?
(1) 10 (2) 12

(3) 14 (4) 18

42. 8.8 +8.08 + 8.008 + 8.0808 + 88.8 =?

(1) 88.8888 (2) 88.7688
(3) 121.7688 (4) 821.88
Space for Rough Work
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39. If p=3, t =2 then

pxpt2xpxt+txt=?
(1) 21 (2) 25

(3) 24 4) 17

40. Rohit received an interest of I 2520 at the rate 7 P.C.P.A after 3 years. Find
out the principal for which he received this interest.

(1) T15,000 (2) 321,000

(3) 1,500 (4) 12,000

41. How many 3-digit even numbers will be formed using the digits 0, 5, 6, 7

only once?
(1) 10 () 12
3) 14 (4) 18

42. 8.8 +8.08 + 8.008 + 8.0808 + 88.8 =?

(1) 88.8888 (2) 88.7688
(3) 121.7688 (4) 821.88
Space for Rough Work
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43. 4B3ANHL 4 Al RUR sAls siel Aa Mddle siel a2 sl SR vEll
219l ?
(1) A s\EL (2) slesle
(3) deslel (4) AR08

44. L O 2ol ssii 52 Rled Hdel?

(1) > (2) < ) = (4 A

45. ‘dd Al ol Bl AvAL isHl Al
(1) 9,00,009 (2) 90,00,009
(3) 9,00,00,009 (4) 90,009

46. A5 SUlA Raoll QMAA Wdldl o sHAIAA e¥sa 28] BelauH
uHEl Hlsld) ag=ll 320 ». Ul BalauHal €3 Hlsls vdle s3 dl Sudla

Sedl Wl 2A?
(1) 219,200 (2) 210,600
(3) 29,600 (4) 79,200

47. dd &M ddRll ol 9 25l = Sedl?

(1) 891 (2) 881
(3) 991 (4) 999
Space for Rough Work
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43.

44.

45.

46.

In a clock, what type of angle is formed between the hour hand and minute
hand at 4 o'clock?

(1) Obtuse angle (2) Right angle
(3) Acute angle (4) Straight angle

Put the appropriate sign in the box.

17 23
s U6
(1) > (2) < 3) = 4 A
Write the number 'ninety lakh and nine' in figures.
(1) 9,00,009 (2) 90,00,009
(3) 9,00,00,009 (4) 90,009
A company distributed half kg. of sweets to each of its 60 employees on the

occasion of Diwali. If the sweets were purchased at the rate 3320 per kg,
then what was the expenditure made by the company?

(1) 19,200 (2) 10,600
(3) 39,600 (4) 9,200
47. What will be nine percent of nine thousand and nine hundred?
(1) 891 (2) 881
(3) 991 (4) 999
Space for Rough Work
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48.

49.

50.

S1.

ol Ul 25l URMA el ?

(1) 19.5

) 23.5 2@
3 2

(3) 14.5 —

4) 18.5

CIE T x LI 15=132259 2l [ ol ovoul qmlel s 24 ®. d
A s sl ?

(1) 4 (2) 3 3) 2 (41

545,035 2l AvAHL ‘€AMW U AHAAL s 2eU@s BHA 2Ha
golSall 2ol AUl Visell 2e@s BHA d2Aal §35 Sedl ©2?

(1) 39,990 (2) 39,000
(3) 39,970 (4) 39,770

VL5 A AL AU Ad LAl GLOLSIR A3 A © el AN W de V. dl d
v 587?

(1) 355 (2) 365
(3) 350 (4) 347
Space for Rough Work
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48. What will be the perimeter of the figure given below.

49.

50.

S1.

(1) 19.5
) 23.5 2

(3) 14.5 3 2

(4) 18.5
If the digit is same in all the boxes, then find the digit.

LI s <[ J5=13225
(1) 4 2) 3 (3)2 4) 1

In the number, 5,45,035, what will be the difference between the place value

of the digit at Ten thousands place and place value of the digit at tens place?

(1) 39,990 (2) 39,000
(3) 39,970 (4) 39,770
On dividing a number by 25, we get quotient 13 and remainder 22. what

will be the number?

(1) 355 (2) 365
(3) 350 (4) 347
Space for Rough Work
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52. a9l 50 2ol 100 A 2AH €35 UsRA 8 Al el A sHL 2Udla
el oleA 10 .6l Al el Hidll dl 10 2. Sedl ool da H®el?

(1) 80 (2) 100 (3) 120 (4) 110

53. 39 ol 2Aell Hlel @QcusysHi 274 el dldl Qetsys GRrael Had
L_Alell ot [RQLYSlell HMRALON Secdl 29l ?

(1) 80 (2) 90 (3) 100 (4) 89

ITx341=9
54. 5><7+1 .

(1) 3¢ @ 33 (3)2 @1

55. 5656 ~ 8 Vil GelolHl olevs 1 2l UL sl RSN Seclell dusl?
(1) 1 (2) 10 (3) 100 (4) 101

56. “As AUl 62 scd 80 Blller idR sl ®”. A HE Al Ul sy
@t vl 29l ?

(1) US| A5 scllsHi 80 BlHle: vidr sl ®.
(2) US| el sclsHi 40 BellHle? 2idr sl ®.
(3) AUl A5 sclls U AAeHl 100 BHl »idR sl ©.
(4) US|l A5 sclls ¥U AeHE 140 Bl 2idr sl ®.

Space for Rough Work
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52.

53.

54.

3S.

56.

Dhanesh went to a bank with 8 notes of I 50 and T 100 each and asked for
notes of T 10 in return. How many notes of I 10 would Dhanesh receive?

(1) 80 (2) 100 (3) 120 (4) 110

Find the sum of all the divisors of the sum of the highest divisor of 39 and
the lowest divisor of 27.

(1) 80 (2) 90 (3) 100 (4) 89
7.3
sx7t1=2
36 13
(1) 35 ) 35 (3) 2 )1
If the divisor of the division '5656 + 8' is reduced by 1, then by how much
will the quotient increase ?
(H 1 (2) 10 (3) 100 (4) 101
If a car travels at 80 km. per hour, then which of the following statement

is false?

(1) Car covers a distance of 80 km. in one hour.

(2) Car covers a distance of 40 km. is half an hour.

(3) Car covers a distance of 100 km. is one hour 25 minutes.

(4) Car covers a distance of 140 km. in one hour 45 minutes.

Space for Rough Work
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57.

58.

59.

60.

12 {leR 3 Ml Hled eotisl AHylsHi 3l A dviel?

(1) 12.03 Hle? (2) 12.003 Hle?

(3) 12.3 HleR (4) 12.0003 Hl2?

2 £2dl SO + 5 Sohel s = %&C'LL sLaLL?
(1) 108 (2) 100

(3) 480 (4) 88

L il wiyelsi 1= ecll david Gldell a0l 3 iidel?

(1) 9 dvid (2) 18 dnid

(3) 8 dvid (4) 12 dvid

Mol A5 HE HUASA 2. 20,000 Hi Wle 53| A 2. 25,000 HL A=
dl A o8l 2 5 Wl ? Sedl »RRWL?

(1) T 2000 o8l (2) T 5000 L8l
(3) 5000 w2 (4) T 2000 >0
Space for Rough Work
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57.

58.

59.

60.

How will you write, 12 m 3 mm in decimal form?

(1) 12.03 metre (2) 12.003 metre

(3) 12.3 metre (4) 12.0003 metre

2 quires (dasta) papers + 5 dozen papers = | papers.
(1) 108 (2) 100

(3) 480 (4) 88

6
For getting 3, as a sum, how many times will you add % to7g?
(1) 9 times (2) 18 times

(3) 8 times (4) 12 times

John purchased a motor cycle for I 20,000 and sold it for I 25,000. Did he

make a profit or loss and how much?

(1) Profit of ¥ 2000 (2) Profit of ¥ 5000
(3) Loss of ¥ 5000 (4) Loss of ¥ 2000
Space for Rough Work
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61. GUYoll BUSE s dAlolla Auiell tal olelladi Yvs UR 5

visdll lyollsy dlAdl UL sell vis icgl old ?
1

6
5
3

(1) 4 2) 1 3) 2 (4)3

62. 6 AHL uslow clotallRell URAQ 34 AL ®. Al doudal vl vl
olly tRleldl 2ARMe] AASN o ULl ?
(1) 576 A (2) 484 AAH.
(3) 441 QAL (4) 169 ALAH.

63. 48 Hl. dioll 2 12 Hl uslol dolARASIR SlAHL AL sl 64
ARULSIR TR NOA © dl e35 el URRQ Sedl e9l ?

(1) 9 HleR (2) 81 Hle?
(3) 3 Hle? 4) 12 HleR

64. 2016 oll 2lctall UAH R 25y 2Ud O, dl 096l AAHT “HRA
UL Rol” SAR sl ?

(1) UM (2) HalndR
(3) RlAarR (4) alar
Space for Rough Work
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61. The net of a cube-shaped number die is given below. Which number will
not come on the adjacent surface of the surface which has number 5 on it?

W | N | O\ |

(1) 4 2) 1 3) 2 (4)3

62. Perimeter of a rectangle with breadth 6 cm. is 34 cm. What will be the
area of the square with the side equal to the twice of the length of the given

rectangle?
(1) 576 sq. cm. (2) 484 sqg. cm.
(3) 441 sq. cm. (4) 169 sq. cm.

63. A hall with length 48 m. and breadth 12 m. requires 64 square-shaped tiles.
What will be the perimeter of each tile?

(1) 9 m. (2) 81 m. (3) 8 m. (4) 12 m.

64. If it is friday on the first day of year 2016, then on which day will Marathi
Language day fall in the year of 2017?

(1) Monday (2) Sunday
(3) Tuesday (4) Saturday
Space for Rough Work
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65. ASA . 15000, 3 Al HIE S €3 AGUNA clURAl AHRRAL Heda id
ACUN 2. 4500 ALY A dl 6.6 RAY oll 62 52AL?

(1) 10% (2) 15%
(3) 9% 4) 8%

66. 27 92lds X3 £9l5 —5 VASH = 52l?
(1) 80,885 (2) 80,085

(3) 81,985 (4) 80,995

67. A5 A=A 16 S ALl oled 10 A ALl 2LUsR 30 el €e2ll dl
d il 58 e9l?

(1) 5 (2) 6
(3) 8 4) 10

68. A5 §5lalel 50 BAlAM YaRHiell 40 (5.2 250 AH YaR A=l dl 32l
vk Riees Rel?

(1) 10 BALUH (2) 10 (3.2 250 AH
(3) 9 (5.2 250 W™ (4) 9 (3.201 750 U
Space for Rough Work
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65. Rahul lended T 15000 to Subhash for 3 years at some rate. If Subhash gave
Rahul an interest of I 4500, then what was the rate of interest P.C.P.A ?

(1) 10%

(3) 9%

(2) 15%

(4) 8%

66. 27 Hundreds x 3 Tens - 5 units = ?

(1) 80,885

(3) 81,985

(2) 80,085

(4) 80,995

67. When a number is multiplied by 10 instead of 16, its product decreases by
30, then find the number.

(15

3) 8

(2) 6

4) 10

68. A shopkeeper sold 40 kg. 250 g. of Jowar out of 50 kg. How much Jowar is
left with the shopkeeper?

(1) 10 kg.

(3) 9kg. 250 g.

(2) 10 kg. 250 g.

(4) 9kg. 750 g.

Space for Rough Work
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69. tlolell tRall {12, ool RRAGTE el Yvslell vulall A0l Sl
A 3 R B2

(1) 2 el aurR (2) 4 2l 204l
(3) 2 &l 208l 4) 4 ol auR

70. o{lA AUA (vl Aol 2As6HL sl Ral sHAR Hsclell AHleldl
Q212 68l ?

4816 ] 2[ 155
(1) ) X) +>_ (2) +) +3 =
(3) ~ +> +>: (4) %, +>:

71. s ol et 60 dal B, & Wl 3 gal 3, 5 gl UMAReAL hel
ollslall el SRRLl ® dl A CUAMHL SR Sedl dall &9l?
(1) 10 (2) 20 (3) 30 (4) 40

72. 18x4—6[ |70 x2+2 -4 AsslHl lAel US| s Re il ?
(1) A 2) > 3) < 4) =

73. 2016 Hi olldicdoll 2 QR Hcll dl 2017 ol AAHT HelRIMe el sl
AR dcel ?

(1) UM (2) QR
(3) HatnalR (4) oLaalR
Space for Rough Work
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69. By how much is the edges of the cube and sum of the vertices and faces of
cube is more or less?

(1) more by 2 (2) less by 4 (3) less by 2 (4) more by 4

70. By which order of operations boxes will replace, to get the balanced equation.
48] ] 6[ | 2[ |S[ ]5
(1) ) X) +9_ (2) +a +9 - =

(3) +: +9 +: = (4) +9 X: +9 =

1 1
71. A garden has 60 trees in all. Out of which 73 trees are of mango, 5 trees are
of coconut and remaining are Jackfruit trees. How many jackfruit trees
are there in the garden?

(1) 10 (2) 20 (3) 30 (4) 40
72. Put the appropriate sign in the box.

18x4—-6[ |70x2+2-4

() A (2) > 3) < (4 =

73. If Christmas falls on Sunday of the year 2016 then on which day will
Maharashtra Day fall in the year 2017?

(1) Monday (2) Sunday
(3) Tuesday (4) Wednesday.
Space for Rough Work
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U-74. ol 75. He Al ollAell Rt U HlbAlall R Ullall vellol duil.

AHAL @AM [Qewell 2ivau
SR * >k kK
HRUsl * %k %k

{3 * %

[Astist * % % X

(wHeL : 1 Rl = 35 Qeael0)

74, dsdiHl sd sedl QearelAl Hd 2udl &2
(1) 470 (2) 450
(3) 350 (4) 490

75. U@’ @A™ -l ol dal @QeuellAlll v, @i’ QN2 aHdL 6l
dat @enell0ell Riv2Al 5l Sedl aurR ®?

(1) 245 (2) 105
(3) 115 (4) 255
Space for Rough Work
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Instructions for Q. Nos. 74 to 75 : Observe the pictograph given below and
answer the questions.

Favourite subject | Number of students.
Mathematics X X Xk Xk X
Marathi X >k Xk

English X >k

Science X X %k X

[Scale : 1 % =35 students]

74. What is the total number of students?
(1) 470 (2) 450
(3) 350 (4) 490

75. By how much the number of students who like Mathematics is greater than
the number of students who like English?

(1) 245 (2) 105
(3) 115 (4) 255
Space for Rough Work
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